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Ol LA X122t 12,776,290 12,463,980 312,310
= 1,977,490
== 1,336,834
Al 9,461,966
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OiHXl 2= 018, 29 3,000 4,800 21,800
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= 750,000
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02 RIENEASEZ(0IETHR) 650,000 0 650,000
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Al 140,000
FA0UX MESH 1,000,000 0 1,000,000
= 700,000
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= 5,000
Al 13,000
CADIASSAIE EXI8] X2 131,748 138,333 6,585
= 39,524
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Al 92,224
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Al 56,250
02 SO 2SOt stA=2E 2 €A H] 112,500 20,000 92,500
LPGEI| AFEIt= AIEIHE AN 112,500
= 56,250
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201 er2 3| 3,000 0 3,000
01 AtR2t2|HI 3,000 0 3,000
A2 BY 22208t 89) 3,000
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Holsstn SStHA 2N 50,000
FHESst SsHA 2SR 18,000
401 AlEHIZ S 0HYI 50,000 30,000 20,000
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